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N B3NS
FM: HE2IZH (BZASE 2)(IIEH/IIE
& 123l (Sl & &)
SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
01 = LH 4 bl 19,872 22,080 N2,208
O =L Hi 19,872 22,080 22,208
— 2o bl(oar =) 2 & 15,072,000 15,072 17,280 A2,208
203 YR =&l 216 240 N24
02 3 Jtaty =4 216 240 N24
OFRIMNAGRFAHI (0l &HE )
2 & 216,000& 216 240 N24
Neas(BIANGA)(BBES/HosE - =2) 8,864,751 8,697,780 166,971
RSN 166,971 0 166,971
EXdRE 166,971 0 166,971
802 gtE = DI EF 166,971 0 166,971
01 I DNEBXSHE = 166,971 0 166,971
020144 & 166,971 0 166,971
— BS2sHENSSH=ZFH A
164,634,000 * 14 164,634 0 164,634
— BE2=sHEOSct=SFHI AL (01 RH)
2,336,180& * 14l 2,337 0 2,337




